2018 05 30 1

Batsystem P75 MPA75 - Mounting instructions
g

Batsystem AB, Traneredsviagen 112, 426 53 Vistra Frolunda, Tel: 031-69 03 80, Fax: 031-690097
www.batsystem.se, info@batsystem.se

< I ) OBS: Detta battillbehor &r endast for bruk till sjéss.  NOTE: This boat accessory is only to be used at sea.
[ |

Detta behdver du:
You will need this:
17 13 10

| ‘:‘::: D
P i i

X6 x7 x4 x6
M10x50 MI10x40 M10x20 M6x25 M10 M10

® 0 ® 0000
& 8-'::

X2 x2 X2 x2 x2 x15
@70 M6, @25 @25 @34 M10 x1 X2

© GO 6 O V0

== HARKER PEN

=

[3a]

f !l!!iIV!!I!{I![ll![l!!il!ll!!!l!!llﬂ}@jﬂ({ﬂ!i!({li!i@




2018 05 30 2
Monteringskarta MPA75:




2018 05 30 3

MPA75: Oppning for ankarhallaren s&gas upp i teaken.

MP75: Storre 6ppning kan fas vid behov vid montering ver befintlig ankarhallare.

B




2018 05 30 4

Batsystem  MP75, MPA75 - Mounting instructions, accessories

= g - Batsystem AB, Traneredsvigen 112, 426 53 Vistra Frolunda, Tel: 031-69 03 80, Fax: 031-690097

www.batsystem.se, info@batsystem.se

MP75: Montage 6ver befintlig ankarhallare.

(O]
e)
e)
)
o )
O o n
O 5 O
O
5 ° o
O O
@) O
& 8@ alt. o=
- O
P1074 P1091 O
15025 mm  290x30 mm O
O
\ A
/Y
w
J
P1010
50 mm
P1085
30°

alt.

alt. etc




